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2AM: EXNFELAED
Hm: HAd 25 2 84
Sl AW 24 Y BE X CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 2,000 0 2,000
J| 1,000
Al 1,000
11T M SXASE EX 2,000 0 2,000
O SSELEEHANE F2U2IAYS 2L 2,000
J| 1,000
Al 1,000
HY2HAH (SRNEAED) 577,142 570,617 6,525
= 208,704
J| 97,565
Al 270,873
el 2 540,740 534,215 6,525
=2 208,704
J| 97,565
Al 234,471
SE A 22IAF Q1A XA (1F2HY|) 285,008 280,050 4,958
= 142,504
Al 142,504
101 124 dl 285,008 280,050 4,958
= 142,504
Al 142,504
03 RIAHAZZ2TE = 285,008 280,050 4,958
O S& Al ZelAr 1241](9Y) 285,008
= 142,504
Al 142,504
AN SHAEHE SgAtdZe XA (LB29H]) 66,200 66,280 A 80
= 66,200
101 @124l 66,200 66,280 A 80
= 66,200
03 RIAHAAZ2ZRHE > 66,200 66,280 A80
O SEAEE RIAAZ2ZA AA4HI(2Y) 66,200
= 66,200
Hoad MAESIMH XA (SE29Y]) 29,366 30,705 A 1,339
101 @14 Hl 29,366 30,705 A 1,339
02 JIEt A2+ 29,366 30,705 A 1,339
O A2FHEHAINM A8 (19) 29,366
o B+ 2,057,160& » 1H » 1228 24,686
o ele sl 50,000& = 1% = 128 600
o EHZAH 130,000& » 1&8 = 12 1,560
o Az EXHI 110,000& = 198 = 128 1,320
0 S+HILY 100,0008 * 1% » 128 1,200
KNAAME HAESEXNMA 2H(F2FH]) 72,756 66,000 6,756
J| 36,378
Al 36,378
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SN E2XNF3AED
HH: HHSYAU (ZNYLHD)
Sel: o2y (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
101 @124 H] 72,756 66,000 6,756
J| 36,378
Al 36,378
02 JIEA 2 %= 72,756 66,000 6,756
O AMZHEERHUD| M Hdl(2Y) 72,756
J| 36,378
Al 36,378
St % AW X (UA2HY|) 87,410 91,180 AB,770
J| 61,187
Al 26,223
101 @121 | 87,410 91,180 N3,770
J| 61,187
Al 26,223
02 JIEtE 2 % 87,410 91,180 AN3,770
O AZESHERHI2ADIH @24 H|(38) 87,410
J| 61,187
Al 26,223
=4l 36,402 36,402 0]
Jl2&4l 36,402 36,402 0
201 YEt2 A H| 27,942 27,942 0
01 AP 2t 2] H| 27,942 27,942 0]
O 2AsEX F¢ 3,564
O Zely EYH -8 (e, 22) 6,600
O JIEF AR 22| H| 17,778
203 QIR =AY 8,460 8,460 0
01 JI22HEYFFAH| 3,300 3,300 0
O EXNsE=22 3,300
04 EASHEIRFAH| 5,160 5,160 0
O BEASHEIYRFEH| 430,000 = 12&€ 5,160
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